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1. nls00n66¶J¶6W%4n’arw”fI6~

2. ntS00n66~Yflns=vaunlSwaP~

3. fllSTll~66WUf!lt?~fHSW%

4. mai&

5. fll-a00fl66¶JflSYJ¶JSlU

6. tllS31~66WU~l6t&&

dlI&J6i-f0Nl6TlS&‘PI0-iI’&  6 0eilV&&l  &%lsila’%6dU¶JVl‘-j  %U”SX&~liiYWlU

a’l&J~eanl

“~si~iiu~o6~“an’El”,sw~~s~0~~u~u r~66n’“lS~~~U906f0a~~“,S00”66~~

S=Yu~anrqU660=nl~~~~lS~lSW~~  &66ni&76%6  9 6f0%kln”fc  6?0

1. fllS&ifllS~fNfIll’6  (Quality Management)

2. fllSWUlf&(Forecasting)

3. fllSkllS%0~fl~&~  (Inventory Management)

4. fllS1l966WUfllSWt%S~0  (Aggregate Planning)

5. fllS’Jl~66WUfllSW&?66~USl  (Master Scheduling)

6. nlS?l966WUaalnr~0~nlS~~~  (Material Requirement Planning)
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0.3 X 0.2 = 0.06

0.2 x 0.2 = 0.04

0.4 X 0.2 = 0.08

0.6 X 0.2 = 0.12

3 -

0.8 X 0.3 = 0.24

0.6 X 0.3 = 0.18

0.5 x 0.3 = 0.15

0.7 x 0.3 = 0.21
- -

rh
4-

0.9 x 0.5 = 0.45

1.1 x 0.5 = 0.55

0.6 X 0.5 = 0.30

0.8 X 0.5 = 0.40

watQ15wIRRrsu

5=2+3+4

0.75

0.77'

0.53

0.73
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thlmsaw"aJu0~dS~~lflS

&n% i,(IY0txl~l5%)  h6flnl~(sxil9  5-10%) ~a(ulntThio%)

1 0.3 0.8 0.9

2 0.2 0.6 1.1

3 0.4 0.5 0.6

4 0.6 0.7 0.8

&&l fil~aqqFl(hdlJlw)

1 0.9

2 1.1’

3 0.6

4 0.8
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tGmlll6w'u¶llc~l~~

ih%l  kl  (&ma'1  5%) dlunal~  (SxiN  510%)

1 0.3 (0.6 - 0.3) 0 (0.8 - 0.8)

2 0.4 (0.6 - 0.2) 0.2 (0.8 - 0.6)

3 0.2 (0.6 - 0.4) 0.3 (0.8 - 0.5)

4 0 (0.6 - 0.6) 0.1 (0.8 - 0.7)

a~(2Jlnflillo%:

0.2 (1.1 - 0.9)

0 (i.1 - 1.1)

0.5 (1.1 - 0.6)

0.3 (1.1 - 0.8)
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Maximize Z = c,i, + c2x2  + C,X,  + - - - + cixn
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x =~ . . . . . . . . . . . . . . . . . . . . . . . . . .

z =. . . . . . . . . . . . . . . . . . . . . . .

Maximize Z = c,x, + c2xz + . . . + cnxD

(or Minimize)

Subject To : al,x, + a,*x2  + . . . +a,xn<,>,=bb,

a2,xz  + az2xz  + . . . +a,x=<,>,=b,

: :
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fll”a$eu~u~4~¶Ju~ 1

%w”  2x,+3x, = 42

18 x, = 0 :. x2=42/3=14 :. My (0,141

%I? 3 =o . - . x,=42/2 = 21 :. My (21,O)

fmu~au~llG.¶~¶J~~~2

%l? 2x,+2x, = 30

%d x, = 0 . . x2 =30/2=  15 :. I&;g+i (0,15)

b? x2 =  0 .I. x,=30/2= 15 :. I~yl(lS,O)

9ln6~ePd~u~~~~u~3

%w”  4x,+2x, = 48

%w’ x, = 0 :. x,=48/2=24 :. ~~~~ (0,24)

I?? 3=0 . * . x,=48/4=12 :. a&p (12,O)
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X*
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x;
25

20

1 5
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X2 6
25’

2 0

15Ii
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1 . %M’Z=96
i

*.  .  96 12x,+8x,=

12x,+8x,  = 96

2 . o1fl 12x,+8x, = 96

ldx,=o  :. x2  = 96/X = 12 :. I&p (0, 12)

%X  =o :. =x*  x1 96112 =  8 :. &Fi (8, 0 )
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qmM -6 (x,,  x,) z = 12x,+8x,

A a 0) Z = (12)(2)  + (8)(O)  = 24

B (12,O) 2=(12)(I2)+(8)(0)=  144

c (9,6) Z = (12)(9)  + (8)(6)  = 156’

D (5, 10) z = (12)(S) + (8)(10)  = 140

E (2,10) Z = (12)(2)  +(8)(10) = 104
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x.I

1000 -

900 -

800 -l
C

700 -

600 -

500 -

400 -

300 -

200 -

100 -

0 I I I I I 14 1 I I I I I I I .
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loot
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400
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100  200 800 400 500 600 ‘100 800 900 1000 ,100 1200 ,300 ,400
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4

66wudlx2%u(t)  2x,42oo  = 800
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20

15

(0.11)
10

5

0 X,
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--

yvm--
A

B

c

I>
-

fi1wta  (XL,  x2) z =Y  lSOx,  + 100x2-

K&O) z = 150(O)  + 100(O) = 0

(10,O) z = 150(10)  + 100(O) = 1,500

(4.9) z = 150(4)  + 1 OO(9) = 1,500

a 11) 7 = 15c)(O)  + lOO(11) = 1,100
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Maximize 2 = 20x,  + 30x2

Subject to :

30x,+20x, 2 300

5x,+ 10x,  2 110

x,,  x*  2 0
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Maxhize  2 = 20x,+  30x,

Subject to :

20x,+  30x2 5 300

5 x , +  5x, 2 110

X,’ x2 2 0
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,

Maximize 2 = 20X, -t  30X?

subject to :

30x,+20x,  I300

0 5 lO\ 15 201 ' 2 5
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nli%n~pp”t&ol~~  (BREAK-EVEN ANALYSW
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PQ = F+cQ

PQ-CQ = F

Qcp-c)  = F
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(Q) (100,000 + IOOQ) G’OOQ)

0 100,000 0

2,ooo 300,000 400,000
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44 D

26Vll

QlnbQw~~6nSl=~~a66~S~l~q  %Uk$.6  %%iiy

Q=12,000ntiaa

p= 24,000,OOO  = 2,000 16lm

12,000

c= 19,200,OOO  = 1,600 p1191

12,000

F= 9,000,OOO  ¶JlVl

fh%r~~~s'nr  = ml&;rau-&nyriaol

= PQ-(F+cQ)

= 24,000,OOO  -(9,000,000  +19,200,000)

= 24,000,OOO  - 28,200,OOO

= -4,200,OOO

Ilj'uks0ag~U~~sJ"wanR9lu=4,200,000  Ulp1

GGm~~R~upuinia~ r,l4;4i

Q= F

P-C

= 9,000,000

2,000 - 1,600

= 9.000.000

400
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Q := 8,000,000
-

2,000 - 1,440

= 8,000,000

560

= 14,285.714

= 14,286 ?&XI
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Fb + cbQ =  F, +  c,Q
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% - %

= 12,000 - 2,400

2- 1.5

= 9.600
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a~n~aiasd~sii  4 asior~i~i~aEIAao~ln~i~  la+%46

Ghl3alMls6a"snz  1 fllsw~Psn~~~ss

+%6~USau  = Fm+cmQ

= 12,000 + 1.5OQ

mo=o

Phpsau = 12,000 4~  (1 SO)(O)

= 12,000+0

= 12,000 ¶JlIl

t-l60=10.000

&6qusalJ = i2,ooo + (1.50)(10,000)

= 12,000 + 15,000

= 27,000 ¶Jl'lI

w"0mmwbGen4  2 “,s~~~~a~~~Ha~ia~~~~“~~~,~~  %ser&ma$a

‘8U~USX.l  = F,+c,,Q

= 2,400+2Q

aao=o

hqusau = 2,400+2(0)

\ = 2,400+0

= 2,400 pn91

04  Q = 10.000

$hpxau  .  = 2,400 + (2)(10,000)

= 2,400 +20,000

= 22,400 IJnl
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40 u1n

50 wn

55u1n

(10 !-ml)

50u1n
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8

-2

d
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ih6do"  Al fil'minUl8V0-h~S  = (8x 0.6)+((-2)x0.4)

= 4.0 hmw

&,&I"  A2 h?lRnulu%0sfh~~ = (4x 0.6)+(2x0.4)

zz 3.2 blUUlW

1 .

MNba"0fl ni'N  2 3663fl ias2~~nss6~0dlnUw4ias2~66sn

&36&l~~“WlR’INa?‘ht4 H=8 HH=9 HL=8

L = -2 L H = O  L L = - 8

i06&0~:“WlIR\lEt” H = 4 i06ik  A21 HH= 10 HL=3

!tii0  A22 HH=6  HL=4

L - 2 LH=5  LL=2
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p  =  0.4x0.2
2+2  - d
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